Edexcel AS Maths The binomial expansion

Topic assessment

=

Expand (2—x)°.
2. Expand (3+2x)*.
3. Find the first three terms in the expansion of (1-2x)".

4. Find the term in x° in the expansion of (2—3x)°.

6
5. Find the constant term in the expansion of (3x—2ij .
X

6. (i) Find the first three terms in the expansion of (1+2x)".
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(if) Use the substitution x = 0.01 and your answer to (a) to find an approximate value for
1.02'°. Give your answer to an appropriate number of decimal places.

Mathematics * Lof2
Education ) 0
Innovation integralmaths.org

[3]

Total 25 marks

03/12/18 © MEI



Edexcel AS Maths Binomial Assessment solutions

Solutions to topic assessment

1, (2—x)° =2° +5(2%) (—x) + 20(2%) (—x)* + 20(2%) (—x)* + 5(2) (—x)* +(—x)°
=32 -R0X+80x% —40x> +10x* — x°

2. (3+2x)" =3" +4(3)*(2x) +6(3%) (24) +4(3) (24)* +(2.0"
=81 +4(27) (2x) +&( 9) (4x7) +4(3) (8x%) +16x*
=1 +206x+216x° + 964 +16x"

3, (1-2X)Y =1+15(—20)+ . C(—=2x)7% +.,.
=1-30x+(105 x4 x%) +..,

=1 —-30xX+420X° +,.,

4, Temin x* =, (2)° (—3x)*
=56X32X2FX°
= 42384

2

1
5, Constantterm = ,C (3x)° (——j
2x

1
=20 X2F X% X —
g X

2

=—67.5

10x 9
21
=14+ 20X+45 x4 x° +...

e (i) (L+2x)° =1+10(2x)+ () +...

=1+20x+180x° +...

(tL) Letx = 0,01
(1.02)” =1 +20%0,01 + 180X 0,0001 +..,
=14+0,24+0.018 +,,,
=1.22 (2d.p.)
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